LB EXam Wucshon S . Phseers L
% S
b)) &= f?( Sonv dx

o

g
)

X=0

= [~ K05y ‘t'S:nXJ
= m
#2. MNormed [Jistebeofyon
M= M o = 2
@A) P X D15 )2 foredt (1S, 959, 1, 3) =0.0%2 .
@) Benomiad 2 )(ﬁ-B(S‘; 0.0%12)
R(X>1) = /- plX=0)
= /- (j)( 0.0 9/2) *tao9m)” = (0,384

#} 72 ZZ; )( #_g :7’ (ar§ Flad 4722 in Tm”«‘
X ﬂoa ?_ET’) (L= Z)—F/D(Xf}
W) p(xe3)s pix=e) t pO=*l
G’?[?, ﬁl“/pij—oé
cise Cw[flﬁo ik . ﬁ:p,zg}' =) 7»___ /3,;,,_;,'7._
5-"0/@#4/ | -
) T=dma. M= “%0:““25“»1“/@:{

94 on
WS lav cross o X0 fpithin Jomin . Ko o Qiithin Rfext lomii

p(/&// ﬁ‘dm’) = P()(j ‘5_3)}0()(2,5_%) “+ PC!‘(‘;:QL}/D(XLS—E*) :

P G N AT A -a Y Y Wl B B A N ._n}



o pocdf (2.5,3)) + PopFLLS, 4) pocdF (2,6,2) (&
T POPIF (&,S‘,f),ﬂocd/:(fl.?j /) + /Oopa/?:(j.g §) fopir

(ztyl'(

H ¢ D Ao -
(@ Pr-coff (X k) =0 2¢

“ZauMor (24 )=075 £, = -2/‘3_/&/ =9
. - , ” 674
Doy Mor (2 < hy)a0 a6 |

e o :éz—': /7/-/({
= =067
, £ .
Y= AR /9.2 kg _

g(ﬂ;): leo « P. ( Xf\ﬁ (io—-o P) lpa 0. /545395. -
&) o /3()( 7A) = o jp

mal cdF ( 22, 999, 19.2 ;3.0)

=00l 5. 18y) < |78]4)

'S '
@ &w- f Ry 3(xydy = /u) XX X5 T 0
0 ¢ 5 =

o

“hw

(5) /‘L_éx): /2_(2){*—3;";}::0 ()(.:-3_—
2

ab. W 2i=pm-ssayes  peys,i0=.70
TN PlYvors )= .28

@’)(UP(K?Z&% A E(K)C(IO)(.z_s):ztS‘.



b) @) pAes) = (¢ )[-8) (-T)° < Bngmisk pdF (10,62
<)
= 0. 088

Qij) Mode ( Most !a‘ke{g)
P()(?:.O) S otogé
F(}(:-i )= ét,’877

P(f=2)= 0,281 & @

P (X=3)= 0. 2802

I~ p(g=o) - ply=1)= ,ﬁ_%’jd{i eyt . 60082
; r B
Colue by [&Y¢

(i ) Ko voeqys by sk bird
Ko Ogg < by d bird

plegge2) = plx,-sIp (o) + pa=Dpcs=D)
* P()( 2) FC)()_ 0)




i i
POER)=2 p( x=9) |

oy g0 . _‘
= C A" 207 & 4 =20
/0} 4/')" |

. i | / i
48 (auf ar ;5 [Mcﬁw—if]:/
Vs

0 !F%::;z
£ an Sinft)- a2 Sing ] =1

A -:___6:
¢z =l




#9
) P 34X 4£8)= 0.547

Wacdﬁ({g 3, 8) =0.5¢7

B) PCX23) = - plrez) =0762

€ Prexss/xzs)= ;5FT=o07s

#1/0. P X2t0)= 0.5  Ard pCXL 4o0) =0/

/636 = 70-% dafd LTS 4o~
4 P

/f:a’éid’ dand & =22.4

# / Leph of f/»-gr = X
XK (160, 4*)
p(x<ctrg)=0.78 9 X—sé2 0.75 @

£

#o k@g Adncheo



IEgucthon (2. | /@? o

Ra)) Y~ Porih)
PUX£11) = Poissoncdt (2. ws 1)
POVSSOcd £ ¢ s)

- 0973 |
. \‘
) Pix>s | x< 2)
< PUX=9) 4+ POX=10) 4 PlX= H) Poxssmpa%( 11} 3) 4 PSR [M*Raassmdhu,;;)
FIVERy e Ty e T
= 0.59373
B PIY > 3) - g2
LRIV A 3) =0l T
SPOY =) -4 uX
Xt
Pﬂ[X OJO 4 P(_‘(,“l) TPIK=2)1 PLY=3)= 0.7
~€ﬂ[ﬂ+ﬂm4{/ﬁ:+ﬂ];o,w
0! } 2! 3! |
M1 TR 37 - 0. =2.47 |
tom Ly t ] ete [r=7%)

giayh o gyaphing (cviakye x = 2.49 Wheny=0. 1

WA ~ Py (4 95) 2WENS 9 2 (2.49) = 4.9

RGN I R AP
= - POISSOncAf (4.98, 5)

= 0, 39053
T W~ B(4, 0.3%)
WKNAS ' Tep

(MO thain B Aaccanly o!iftfmg’ Aricar 2 wkndy)

~» Plw: 2)
= - Pivel)
= (44l

PCA <) 1 - 0.2 Sme FCAzog)-02

0.9

PCA < |8)= 6.4
D2y - oM - 00410

- ¢ 25 -4 5=
R A B A ¥ 094l - 0,20 33
¢ , - 196 |

A1

Moy Y mmg‘rm (0. &)



